1200374 (K12n0374)

10 O Linearized knot diagam

L ON

/368102113124697

[l
M/ Solving Sequence
8 3 6,10>11>37>8—>2—>1—>5—>4—9—> 12 >>C3,C8,C11
€10 cr

Ce C2 C1 Cs C4 Cog C12
A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (—301149306547334u'® — 405785743495567u'? + - - - + 5460935417391053b — 2324129620964575,
2521976827730410u"® + 4134029936992622u'* + - - - + 5460935417391053a — 8351550389039156,
u'® + 20"+ — 1)

I = (u® +u® — 20" + 208 + 3u® — 6u* + 2u® + b —2u — 1,
ul® —4u® + 20" + 48 — 60 +ut + 4P — P Fa—u+1,
ut +ul® — 3u® + 5u” — 4uS — 4ud 4 dut +ud - 3u? + 1)

* 2 irreducible components of dim¢ = 0, with total 27 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (—3.01 X 10™u'5 —4.06 X 104! +. . - 45.46 X 10156 —2.32 X 1015, 2.52 X
105415 4+4.13 x 101544 4 . - 4+5.46 X 10'°a—8.35 X 10*%, u'S+2u'5+...4u—1)

(i) Arc colorings

1
aio = \0
1
a1l = U2
—0.461821u'® — 0.757019u + - - - + 1.13267u + 1.52933
a3 = \0.0551461u'® 4+ 0.0743070u'* + - - - — 1.30799u + 0.425592
—U
a7 = —ud+u
—1.16646u'® — 2.14400u™ + - - - — 0.648553u + 1.23228
ag = \0.142447u'® 4+ 0.241985u* + - - - — 2.03492u + 0.447884
—0.461821u" — 0.757019u'* + - - - 4+ 1.13267u + 1.52933
az = | 0.0215283u'® 4 0.0644709u* + - - - — 0.679549u + 0.258968
1.49486u'® 4 2.51422u™ + - - - — 4.17011u — 0.263898
a1 = \ —0.226698u® — 0.0915071u + - - + 4.12577u — 0.807954
1.28737u'® + 2.32151u' + - - - — 1.70682u — 1.04336
as = \ —0.120918u® — 0.177515u% + - - - + 2.35537u — 0.188916
1.16646u'° + 2.14400u'* 4 - - - + 0.648553u — 1.23228
as = \ —0.1209184® — 0.177515ut% + - - - + 2.35537u — 0.188916
0.802633u'® + 1.98845u'* + - - - + 8.96383u — 3.11463
ag = \ —0.352889u'® — 0.635726u1* + - - - + 0.487447u + 0.504102

1.38603u'® + 2.45156u'* + - - - — 2.59193u — 0.500660
a12 = \ —0.149090u'® — 0.0711014u + - - - + 2.28378u — 0.416208

(ii) Obstruction class = —1

(iii) Cusp Shapes
— _ OT30656845787569, 15 _ 17505322506035493 14 | | 16486080638841760,  93508315704564998
= T 5460935417391053 5460935417391053 5460935417391053 5460935417391053




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u'® — 220" 4. 4 28u+ 1

Ca,Cs w4+ 4u 2 —1

3, Cr ul® — 1401 + - 415202 — 32

C4,Cy u'® +ut® 4. — 184u — 85

C6, C10 u® —2u® 4. —u—1

cs, C11 w® =2 42+ 1
cia u'® 4+ 8u'® + - — 17328y — 2417




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y'® + 14y"® + - — 540y + 1
€2,C5 Yt 42291 ... 28y 4+ 1
3,7 Yo — 14y + ... — 9728y 4 1024
16 15
Cq,C9 y o 4 15y ~° + --- — 36576y + 7225
€6, €10 y' + 20y + - — 9y + 1
16 15
€8, C11 yo +10y° 4 —1dy +1
c12 y' + 38y'° + .. — 113705856y + 5341889




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.709961 + 0.3020181
a= 0.067289 — 0.3712651
b= —1.56748 + 0.561031

u =

—2.10600 — 5.426931

—16.6708 + 2.30251

uw= 0.709961 — 0.3020181
a= 0.067289 + 0.3712651
b= —1.56748 — 0.561031

—2.10600 + 5.426931

—16.6708 — 2.30251

u = —0.624053 + 0.4144701
a= 0.036931 4+ 0.6193611
b= —0.268149 + 0.1470421

2.12989 + 2.009851

—8.08247 — 3.698871

u = —0.624053 — 0.4144701

a= 0.036931 — 0.6193611 2.12989 — 2.009851 —8.08247 + 3.698871
b= —0.268149 — 0.1470421

u = —0.603403

a= 10.346440 —5.59033 —13.4830

b= 1.97720

0.365789 + 0.4621961
a= 0.36041 — 1.553981
0.667180 + 0.5262391

u =

—0.228166 + 0.9096171

—12.89785 — 1.134981

u= 0.365789 — 0.4621961
a= 0.36041 + 1.553981
0.667180 — 0.5262391

—0.228166 — 0.9096171

—12.89785 +4- 1.134981

u = —0.222804 + 0.3698781
a= 157769 + 3.866591
0.82840 — 1.192041

—8.61028 — 1.608031

—19.3772 + 7.18371

—0.222804 — 0.3698781
a= 157769 — 3.866591

S
|

—8.61028 + 1.608031

—19.3772 — 7.18371

b= 0.82840 + 1.192041

u= 0.325252

a= 0.778005 —0.534698 —18.5610
b= 0.326406




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 1.14699 + 2.115021
1.050490 + 0.0624691
—5.41647 + 5.131681

5.95217 — 5.1151171

—14.9917 4-2.07441

1.14699 — 2.115021
1.050490 — 0.0624691
= —5.41647 — 5.131681

5.95217 4 5.115111

—14.9917 — 2.07441

= —0.86624 + 2.263321
= —1.018240 + 0.1642201
= 6.83232 + 3.441151

10.23600 + 0.211371

—11.36887 4 0.556611

—0.86624 — 2.263321
—1.018240 — 0.1642201
6.83232 — 3.441151

10.23600 — 0.211371

—11.36887 — 0.556611

—1.37057 + 2.246541
—1.136800 + 0.0497421
5.77240 4 7.056741

9.6708 4- 10.35551

—12.00000 — 4.835411

—1.37057 — 2.246541
= —1.136800 — 0.0497421
= 5.77240 — 7.056741

9.6708 — 10.35551

—12.00000 + 4.835411




IL.
=@ 4+ul+.--+b-1, v —4uP+.--+a+1, v +u%4... —3u?+1)

(i) Arc colorings

1
a10 = \ 0
1
a1l = U2
—ul0 4 4u® — 2" — 4 + 6 —ut — AP+t +u—1
az = —u® —u® 420" —2u8 —3ud +6ut — 20 +2u+1
—u
ar = \—ud+u
—u? —u® +3u” — 5ud 4+ 3ut + 3ud — 2u? —u+1
ag = \2u9 +2u8 —5u” +6u® —6ut —3ut +2u2 —u—1
—u'0 4 — 27 — 4w 66U —ut — AP Ui+ u—1
a2 = \ —2¢9 — 208 +5u” — b — Tu® + 8ut + 3w —dut +u+2
u? +ud —3u" —ub 4+ 4ud —ut — 243
a1 = \—2¢% = 3w +4u" +3u’ —4duS + 2t + P +ul +u
w +ud —3u" —ub +4ud —ut —3udP +2u
as = w+u =2t + 22 —u—1
Wt ud —3u"+5u —3ut -3+ 2 tu—1
a4 = wWrud -2t + 202 —u—1
ud +u” —3ub — 2u® + 3ut —3uZ + 2
a9 = \ g0 449 —3ud — " + 4ub — 2u® — 3ut + 2B —u

ut —2u? +1
a2 = \ —u® —ud +2u” — 2u® + 2ut + v +u
(ii) Obstruction class =1

(iii) Cusp Shapes
= 4u0 + 10u° — 2u® — 1447 + 9ub + 15u® — 26u* — 23u3 + 2202 — 2u — 29



(iv) u-Polynomials at the component



Crossings

u-Polynomials at each crossing

! utt —9ul® 4 5y —1

C2 ul 4 300 — 6u® — 207 4+ 2u® + 305 + dut 4+ 2u® — 20 — 3u—1

€3 utt + 200+~ Bu 1

€4 u — 4u® — 6u® + 10u” + 23u° — 10u® — 23u* — 2u® + 16u* — 3u — 1
5 ult — 30 + 6u® — 207 — 208 + 3u° — dut 4+ 2u® + 20 — 3u+ 1

6 ult —ul® — 3u® + 5u” + 4ub — 4u® — 4t Fud 4+ 30 -1

7 utt =200 4 —B5u—1

Cs ul' = 3ull w1

Co u't — 4u? + 6u® + 10u” — 23u® — 100° + 23u” — 2u® — 160 — 3u+1
C10 ut 4+ 0wl — 30 + 50" — 4wl — 4ud 4+ 4t +ud -3+ 1

c11 w30+ —u—1

P u't = Tut 4 — 85u + 29
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 gt 17y 49y — 1

C2,C5 ytt =9y By —1

€3, C7 yt - 14yt 21y — 1

C4,C9 yt =8yl dly — 1

Ce5 €10 gt =Ty 6y — 1

cs, c11 y Tyt 43y — 1

12 y't =21y .+ 10821y — 841
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u= 0.636123 + 0.6701361
a= 1114440 — 0.5436047 | 1.01561 — 3.687941 | —9.46045 + 4.336381

b= —0.780678 4 0.8315601

u= 0.636123 — 0.6701361
1.114440 + 0.5436041
b= —0.780678 — 0.8315601

a =

1.01561 + 3.687941

—9.46045 — 4.336381

u = 0.579598 4 0.9094511
a = —0.53978 + 1.764421
b= —1.78870 — 1.781701

—8.26462 4 1.077071

—11.60559 + 3.045041

u = 0.579598 — 0.9094511
a = —0.53978 — 1.764421
b= —1.78870 + 1.781701

—8.26462 — 1.077071

—11.60559 — 3.045041

uw= 1.16659
a = —0.621653
b= —1.35028

—8.04334

—20.3040

u = —0.693012 4 0.4070111
a= 0.911623 — 0.2202117
b= —2.23098 — 0.933641

—1.97384 + 6.112461

—15.4629 — 13.15821

u = —0.693012 — 0.4070111
a= 0.911623 + 0.2202111
b= —2.23098 + 0.933641

—1.97384 — 6.112461

—15.4629 + 13.15821

u = —0.733849

a = —1.28586 —2.65454 —14.9220
b= 0.269849

uw= 0.710299

a = —0.858009 —6.08165 —31.1290
b= 221118

u = —1.59423 + 0.150201
a = —0.103519 + 0.5531541
b= 0.73498 + 1.217161

—5.41647 — 2.995101

—12.79336 + 4.150501
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

u = —1.59423 — 0.150207

a = —0.103519 — 0.5531541

b:

0.73498 — 1.217161

—5.41647 4 2.995101

—12.79336 — 4.150501
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

‘@ (u*t —9u'® - 45— 1) (u'® — 220 - 4 28u + 1)

o (ut 4 3u'® — 6u® — 2u” + 2u® + 3u® 4 4ut + 203 — 2u® — 3u — 1)
(e 20— 1)

€3 (ut 420 - — By 4 1) (u® — 14u!® + - - 4 15202 — 32)

s (u*t — 4u® — 6u® + 10u” + 23u® — 10u® — 23u* — 2u® + 16u® — 3u — 1)
(w4 — 184u — 85)

cs (u*t = 3u'® + 6u® — 2u” — 2u® 4 3u® — 4ut + 203 + 2u* — 3u + 1)
(4 4ut 20— 1)

e (u't — u'® — 3u® + 50" + 4u® — 4u® — dut +ud + 3u® 1)
St —2u o —u—1)

cr (u =2t - = Bu — 1)(u® — 140’ + - 4 152u% — 32)

8 (ut =3u' o —u+ )t -2+ 2u 1)

co (u*t — 4u® 4 6u® + 10u” — 23u8 — 10u® + 23u* — 2u® — 16u® — 3u + 1)
(w4 — 184u — 85)

e10 (ut 4 u'® — 3u® + 50" — 4u® — 40 + dut +ud — 3u® + 1)
St —2u o —u—1)

c11 (u™ +3u = D) (= 20" 204 1)

c12 (ut — 7u' - — 85u + 29)(u'® 4+ 8ul® + - - — 17328u — 2417)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 (Yt — 17y + 9y — 1) (1 + 14y 4 - — 540y + 1)
c2,¢5 (" = 9" 4+ 5y — (Y + 229" - =28y + 1)
3, C7 (yM — 14y + - 421y — 1) (9" — 149'° + - - — 9728y + 1024)
C4, Co (" — 8y + -+ dly — 1) (y'C + 159" + - - — 36576y + 7225)
c6, C10 (" =1y 6y — D)y 20y + - =y + 1)
cs, €11 (" 7y 3y — D (M 10y - — 14y 1)
1o (y' — 21910 4+ .- + 10821y — 841)

(™% + 38" 4 - - — 113705856y + 5841889)
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